Question 1:

A) According to the visibility, what are statements are wrong.

[2 ½ ]

1) Protected variable will act as private access specifier in subclass.

2) Private variable can be accessd by the object in outside of the program. Like: private a; Sytsem.out.println(ob.a) // Here ob is the object of a class.

3) Default access specifier variable is available in other package.

4) Public access specifier has a restriction accessibility.

5) Package access and friendly access have its own restriction.

B) Study the code given below and answer the question that follow.

double d=5.0; Double aD= new Double(d);


double r= aD.doubleValue( );

1) What is the difference double d and Double aD?


[ ½ ]

2) doubleValue() method belongs to which class?


[1]
3) What do you call aD?





[ ½]
C) Study the code given below and answer the question that follow:
[2]


class Alpha 


{  private  int n;


    private void method1( ) 

{ System.out.prinltn(“I am “); }


}


class  Demo


{




public static void main(String s[])



{ A= new Alpha();



 A.n=5; A.method1(); }


}

1) Is there any error in the above class? If it is , Write what is the error and also reason.

D) class A { public static void main(String s[]) 

{ int a; char b; 
   public void method ( ) { System.out.println(a); } } }
1. Is the above class is User Defined data type or not. Support your answer.[2]

E) Write one example to understand that Local variable hidden global variable.
[1 ½ ]
Question 2:

A) Fill the if condition in the following code without using charAt() method.

The below code is used to find out that a character ‘a’ presents in the given String  S or not.








[2]

String S;

char c=’a’;

if(____________) System.out.println(“The character does not present in the given string”);

B) Consider the following code and Predict the output.



[2]

class TryCatch

{


public void test( )


{



try {



double x=0.0; 

throw(new Exception ())



}



catch(Exception e)



{System.out.println(“Exception Caught”); }



finally { System.out.println(“Finally”); }}}

C) Rewrite the following as direct in the square bracket.
1) if(a<b) { System.out.println(“a is smaller”); }


[1]
[Rewrite the condition expression to get the same output if the condition is true]

2) for(i=0;i<n;i++) { System.out.println(i)}



[1 ½ ]
[Without changing the for loop , rewrite the above output statement to print the value n to 1. Note don’t use any other variable and don’t include any statement.] 
3) if (a<b && b<a) . If this condition becomes false what type of output statement will you write it?





[1 ½ ]
D)    Say True or False
1) A binary search of an ordered set of elements in an array is always faster than a sequential search of the elements.

2) A binary search  of elements in an array requires that the elements be sorted from smallest to largest.
3) The performance of linear search remains unaffected if an unordered array is sorted in ascending order.

4) For sorting of an element in an array, the elements are always shifted to make room for the new entrant.

Question 3:
A) Fill the blank in the following code:

The following code is used to find out the number in the array or not by binary search. [note the numbers are arranged in ascending order]


[3]
while(start<=end)

{


mid= (start+end )/2;


if(A[mid]== num)


{
found=1 ;




break;  


What is the use of this statement?



}


elseif(A[mid}<num) { ___________}


elseif(A[mid]>num) {___________}

}
B) What will be the visibility of the following 




[4]
a. a public class

b. a private class

c. a protected class

d. a default class.

C) Write a decision making statement to check three numbers that which is the biggest one using conditional operator [?:] .



[3]
Question 4:


A) Define fall through and how do you avoid.



[2]

B) What is the difference between parseInteger() and value Of method.
[2]

C) Class is user define data type. How?




[2]

D) What is the difference of sorting the Strings and characters array.
[1]
E) Give one similarity between String and Character.


[1]
F) What is the difference between int and integer array?


[2]
SECTION B
[Attempt any Four Question.]
Question 5:

A) Write a program to accept two words and find out that both are anagram words are not.

Examples of Anagram word:

Sale

Seal

[Anagram word]

Sale

Sale

[ not  Angram word]

Sale

Word

[not a anagram word]

B) Write a program to accept a email id and check it whether it is valid or not.

Question 5:

A) The following are quadratic expressions with one root. Write a program to find out the K value and roots for the expressions according the user choice


[15]

1.
ax2+bx+k


2.
kx2+bx+c


3.
ax2+bx+c

Question 6:

A)  Write a program to accept a sentence and print the words in ascending order according to the number of character present in a word.

Ex: I am a computer. I am preparing.

OP( I

           a

           I


          am

          am

         
:

:

Question 7:

Define a class as following

Data Member:




Name, monthlysalary, experience, type[lower,middle,higher]
Member Function:

readData() ( reading the information about an employee such as name, monthlysalary, experience,type.

calculation() ( According to the type and monthly salary of an employee, the organization gives some allowances and Deduction

Type=Lower


If monthly salary is 4000 or less and experience is 4 or less than


HRA is 5% of monthly salary


DA is 3% of monthly salary


MA is 1% of monthly salary


If monthly salary is 4000 or less but experience more than 4 then


HRA is 7% of monthly salary


DA is 5% of monthly salary


MA is 2% of monthly salary


If monthly salary is more than 5000 then irrespective of salary


HRA is 10% of monthly salary


DA is 6% of monthly salary


MA is 4% of monthly salary

Type=middle


If monthly salary is 6000 or less and experience is 6 or less than


HRA is 6% of monthly salary


DA is 4% of monthly salary


MA is 3% of monthly salary


If monthly salary is 6000 or less but experience more than 6 then


HRA is 8% of monthly salary


DA is 6% of monthly salary


MA is 4% of monthly salary


If monthly salary is more than 10000 then irrespective of salary


HRA is 15% of monthly salary


DA is 10% of monthly salary


MA is 6% of monthly salary

Type=Higher

If monthly salary is 10000 or less and experience is 10 or less than


HRA is 10% of monthly salary


DA is 8% of monthly salary


MA is 6% of monthly salary


If monthly salary is 10000 or less but experience more than 10then


HRA is 14% of monthly salary


DA is 10% of monthly salary


MA is 7% of monthly salary


If monthly salary is more than 10000 then irrespective of salary


HRA is 20% of monthly salary


DA is 15% of monthly salary


MA is 10% of monthly salary

If type is lower then PF and LIC is 10% of monthly salary
If type is middle then PF and LIC is 15% of monthly salary

If type is Higher then PF and LIC is 20% of monthly salary

calculateNet( )
( calculate the netpay like



grospay=monthlysalary+HRA+DA+MA




netpay=grosspay-PF-LIC

display( )
( All the details of an employee including the salary details should display.
Question 8:

A) Write a method to find out the sum of the below series.

[7 ½ ]

X2
X3
X4
X5

Xn

X  +            -           +          -

+ ……



2!
3!
4!
5!

n!

B) Write a method to accept a number and print the following triangle [7 ½ ]
30







Even numbers
1

3





Odd numbers

28

26
24

5

7
9
11

22

20
18
16
14

13

15
17
19
21
23

12

10
8
6
4
2

25

27
29
*
*
*
*
No odd numbers So *

Question 9:

1. Write a program to accept a group of numbers and arrange the numbers in ascending order using selection sort and also print the original position of the numbers before sorting.


5
78
32
89
10

OP(


5
10
32
78
89



0
4
2
1
3

